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Profit and loss account

1. The profit and loss account shows:
a) How a business has traded for a specific period
b) The assets and liabilities of a business at a specific point in time
c) How cash has come into the business and what it has been spent on
d) The amount of money made by selling surplus assets

2. Which of the following is the correct calculation of gross profit?
a) Sales less operating costs
b) Sales less depreciation
c) Sales less cost of sales
d) Cash receipts less expenses

3. A business achieves total sales of £250,000 and has a "cost of sales" of £110,000.
Overheads are £50,000. What is the gross profit of the business?
a) £250,000
b) £140,000
c) £90,000
d) £60,000

4. A business makes a gross margin of 22% on sales of £450,000. What was the "cost of
sales" of the business?
a) £351,000
b) £99,000
c) £200,000
d) Not possible to calculate from the information given

5. Which of the following actions would not improve the gross profit of a business?
a) Change to cheaper raw materials suppliers
b) Offer fewer discounts to customers
c) Increase selling prices of products
d) Reduce advertising expenditure

6. A business makes a gross profit margin of 37.5% on its sales of £15.0 million in 2004.
What was the cost of sales in the year?
a) £5.625 million
b) £9.375 million
c) £5.735 million
d) £15.0 million

7. Which of the following would improve the gross profit margin of a manufacturing
business?
a) Raw material suppliers to the business increase their prices
b) The marketing department offers higher customer discounts to encourage sales
c) New production methods reduce the factory reject rate
d) Office overheads are reduced following redundancies in the accounts and admin departments
8. Which factor below would increase the operating profit margin of a business?
a) An increase in trade creditors
b) An increase in overheads
c) An increase in fixed asset spending
d) An increase in gross profit margin



9. Which of the following would be separately shown as an “exceptional item” in the profit
and loss account?
a) An increase in the cost of raw materials
b) A pay rise for the sales and marketing team
c) The closure of a significant business unit
d) An increase in the depreciation charge


10. Retained profit is calculated as:
a) Sales less cost of sales
b) Gross profit less overheads
c) Profit after tax less dividends
d) Operating profit plus dividends


11. A limited company must pay out a dividend to shareholders if it makes a profit: true or
false?
a) True
b) False



Profit and loss account
Answers:
1. (a)
2. (c)
3. (b)
4. (a)
5. (d)
6. (b)
7. (c)
8. (d)
9. (c)
10. (c)
11. (b)
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(40 marks; 40 minutes)
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What is meant by ‘revenue’?

What is meant by ‘operating profit'?

Does an increase in price necessarily increase
revenue? Explain your answer.

How could a company jeopardise its
future by paying out generous dividends to
shareholders?

Is profitability measured in pounds or
percentages?

What is the formula for the operating profit
margin?

Explain two ways of increasing profits.
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8 Explain why cutting costs might end up
reducing profits. (5)

9 Explain one way in which operating profit
might be affected by a decision within:

a) the marketing function
b) the operations function. ®)
10 Give two reasons why a profitable business
could run out of cash when it expands too rapidly. (2)
11 Identify whether each of the following
business start-ups would be cash-rich or
cash-poor in the early years of the business:
a) a pension fund, in which people
save money in return for later pay-outs
b) building a hotel
¢) starting a vineyard (grapes only pickable
after 3-5 years). @
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SOFA'SOGOOD Ltd is a retailer of sofas. It had been
experiencing a ‘very slow’ summer. Revenues had been
falling but costs had been pushed up by pay increases,
higher rent costs and higher interest payments on
debts. As a result, net profits had fallen by 20 per cent
on last year. Renis, the managing director, was very
disappointed that revenue had fallen because he had
cut prices by 5 per cent and had expected customer
numbers to increase sharply. Once it became clear that
this discounting policy was not working, he imposed

a pay freeze on everyone in the company and a policy
of non-recrultment. If any staff member left, she or he
would not be replaced.

Questions (30 marks; 30 minutes)
1 What is meant by:

a) revenue

b) costs

©) net profit?

2 Explain why a fall in price might not have led
10 an increase in revenue.

3 Apart from the methods mentioned in the
text, assess two other actions SOFA-SOGO0D
could take to improve its profitability.

4 Assess the advantages and disadvantages to
the business of the staff cost-saving actions
taken by Renis.
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